PHYS 102:General PhysicsIl KOC UNIVERSITY Spring Semester 2012
College of Sciences
Section 1 Quiz 6 22 March 2012

Closed book. No calculators are to be used for this quiz.
Quiz duration: 1S minutes

Name: Student 1D: Signature:
The switch S in the given circuit is initially left open for a long time and then closed. Find the
current through cach resistor at the instant the switch S is closed.

(IMQ =10°Q), (1uF =10°F).
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Section 2 Quiz 6 22 March 2012

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

Tn the circuit below, find the maximum charge on the capacitor.

(IMQ =10°Q), (1pF =10°F),
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Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

In the circuit below, £ =1.2kV, C=6.5uF, R, =R, = R, =0.2MQ. With C completely
uncharged, switch S is suddenly closed (at t=0). Determine the currents /1,1, and /, passing

on the resistors R,,R,and R, .

(IMQ =10°Q), (1l =10°F).
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Section 4 Quiz 6

Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID:

In the circuit below, determine the current in each resistor,
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Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

In the ciruit below, determine the current in each resistor.
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College of Sciences
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Closed book. No calculators are to be used for this quiz.
Quiz duration: 15 minutes

Name: Student ID: Signature:

In the ciruit below, determine the current in each resistor.
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